# Deluxe Caterers Pvt. Ltd.

1 Rashid Mansion, Worli Point, Mumbai 400018. Tel : 43224322

Annexure-I

PO No # DCPL/PO/24-25/000344				Order Date :	Order Date : 18-Dec-24		
The above no must appear on all challans, invoices and all documents relating to this			Quotation / PI	DCPL-2425-00250			
	PO.			No:			
				Quotation / PI Date :	Mai	I	
					DCPL		
				Department:	nt: Prestige Park		
	Shan Tablewares Pvt. Ltd	Shan Tablewares Pvt. Ltd					
To :	Ground Floor S K Ahire Marg,			Delivery Address :	Deluxe Caterers Pvt.		
					Copper chimney Pres	tige Park	
	worli, Mumbai-400 030.						
Tel :	022 6695 9937.			Tel :			
Fax :				Fax :			
Contact							
Person :	Mr. Pradeep Singh			Contact Person :	Prahalhad		
Mobile :	9323564292			Mobile :			
Email:	pradeep@feathertouch.co.in			Email :			
GST NO	08AAFCS4	238J1Z4		GST NO	27AAACD1	585R1Z3	
TIN NO							
PAN NO	AAFCS4	AAFCS4238J			AAACD1	685R	
We are ple	eased to confirm to supply the material as p	•	•	o supply as per the o	delivery period and the t	erms mentione	
Sr.no	Description	below Specifications	UOM	ΟΤΥ	Rate	Amount	
1	SOUP MATKI WITH HANDLE	WHITE	Nos	QTY		₹ 7,920.00	
2				72	₹ 110.00		
3	URMI DINNER PLATE 10" URMI QUARTER PLATE 7"	WHITE	Nos Nos	228 228	₹148.00 ₹76.00	₹ 33,744.00	
4	TEA CUP MRT	WHITE	Nos	12	₹ 51.00	₹ 612.00	
5	TEA SAUCER MRT	WHITE	Nos	12	₹51.00	₹ 612.00	
6	TEA POT 2 CUPS	WHITE	Nos	2	₹280.00	₹ 560.00	
7	KATORI 3.5"	WHITE	Nos	144	₹ 55.00	₹7,920.00	
8	CREAMER SMALL	WHITE	Nos	72	₹ 80.00	₹ 5,760.00	
9	ENVY BOWL 3.5	WHITE	Nos	72	₹ 89.00	₹6,408.00	
10	BEAN BOWL (S) W/O LINES	WHITE	Nos	72	₹ 80.00	₹5,760.00	
11	PG DIP BOWL	WHITE	Nos	72	₹ 55.00	₹3,960.00	
	Subject to all statutory d	eductions		Basic Amount		₹ 90,584.0	
	, ,			busic Amount	Packing Charges	₹ 0.00	
RMS & CC	ONDITIONS	ERMS & CONDITIONS					
	1	Purchase order			Sub Total	₹ 00 521 00	
Payment	50% advance of grand total Alonge with	n Purchase order			Sub Total	₹90,584.00	
ayment	1		nce against		Sub Total Freight	₹ 90,584.00 At Actual	
ayment	50% advance of grand total Alonge with	d within 7 days as advar	•				
ayment	50% advance of grand total Alonge with Balance 50% of Grand total shall be pai Prioer Notic of material ready for dispa Shan Table ware shall inform material rea	d within 7 days as advar tch and Performa Invoic <b>dy for dispatch notice w</b> e	ce.		Freight	At Actual ₹0.00	
RMS & CC Payment Terms :	50% advance of grand total Alonge with Balance 50% of Grand total shall be pai Prioer Notic of material ready for dispa	d within 7 days as advar tch and Performa Invoic <b>dy for dispatch notice w</b> e	ce.	IGST	Freight Insurance @ 3%		

# SPECIFIC TERMS & CONDITIONS

Delivery 30 - 40 days from the date of receipt of confirmed order along with advance Time :		
Billing: Deluxe Caterers Pvt Ltd, 1 Rashid Mansion, Worli, Mumbai - 18		
For Deluxe Caterers Pvt. Ltd.		

Prepared By - Purchase Executive

Approved By

Authorized By

# Deluxe Caterers Pvt. Ltd.

1 Rashid Mansion, Worli Point, Mumbai 400018. Tel : 43224322

# GENERAL TERMS & CONDITIONS:

Definitions

GOODS shall mean the materials, products or services to be purchased or to be supplied as specified in the PURCHASE ORDER and/or any part thereof.

PURCHASE ORDER shall mean the PURCHASE ORDER form, this document and any other document listed herein and shall constitute the entire agreement between the parties. SUPPLIER shall mean any person or company having a contract for the supply of GOODS to PURCHASER.

### Price

The price along with other terms & conditions as mentioned in the above Purchase Order herein shall be binding to the seller.

# **Delivery Documents**

The challan / Invoice should provide full particular of all articles with purchase order no. Obtain receivers signature and rubber stamp and attach copy of same with bill/invoices

#### Warranty

SUPPLIER warrants to PURCHASER and its clients that the GOODS shall comply in every respect with any specifications, drawings and other data forming part of the PURCHASE ORDER and shall be free of defective materials or workmanship and is complete without any omissions. SUPPLIER shall be fully responsible for making good immediately upon being notified by PURCHASER any omission and defects in the GOODS or any portion thereof which may appear or occur during the warranty period

SUPPLIER shall ensure that the warranty is directly extended to the PURCHASER and, at the PURCHASER's option, the PURCHASER may exercise any of the warranty herein directly against the manufacturer of the GOODS and its agents.

SUPPLIER's liability hereunder shall extend to all damages directly cause by the omissions or defects, including incidental damages such as removal, inspection, costs of return or storage. SUPPLIER shall not be liable for any indirect, remote or consequential losses.

### License & Permit

If execution of the PURCHASE ORDER requires any license or other permit issued in the country of shipment and/or origin, the PURCHASE ORDER shall be conditional upon such license or other permit being available at the relevant time. SUPPLIER shall be fully responsible for obtaining the necessary license and permit.

#### Confidentiality

Any PURCHASE ORDER placed by the PURCHASER including all accompanying designs, drawings, specifications and information which may be treated as confidential and in particular the SUPPLIER shall not make use of the PURCHASER'S NAME or the name of any companies associated with the PURCHASER for publicity purposes without the consent of the PURCHASER.

#### Insurance

SUPPLIER shall effect and maintain at its own cost, all applicable insurances as required by law and to cover SUPPLIER's responsibilities and liabilities under the PURCHASE ORDER. Nothing contained herein shall serve in any way to limit or waive SUPPLIER's responsibilities or liabilities under the PURCHASE ORDER.

#### Safety

Where a service is being provided on property occupied by PURCHASER, SUPPLIER shall be responsible for the safety of all persons engaged on the work, and all persons who may be affected by activities of SUPPLIER and shall comply with all PURCHASER's safety regulations and procedures.

## Waiver

Any waiver by PURCHASER to any breach of the PURCHASE ORDER shall not constitute a precedent nor bind the parties to any subsequent breach by SUPPLIER.

#### Force Majeure

Neither party shall be liable for any failure to fulfill any term of the PURCHASE ORDER if fulfillment has been delayed interfered with or prevented by force majeure. Force majeure may only be involved if the event preventing the fulfillment is due to no fault of the obligor, is not for his risk and has occurred since the obligation came into being.

#### Liability & Indemnity

SUPPLIER shall be responsible for and shall indemnify PURCHASER from and against all claims, proceedings, demands and causes of action in respect of any damage, loss or injury (including death) to any person or property arising out of SUPPLIER's negligence, acts or omissions, without regard to whether any negligence, act or omissions of PURCHASER contributed to such injury, death or property damage.

#### Payment

Payment will be effected within Thirty days (30) days after receipt of an undisputed invoice (together with supporting documents) by the PURCHASER provided always that the PURCHASER has accepted the GOODS, or as otherwise agreed and stipulated in the PURCHASE ORDER.

#### Change

PURCHASER reserves the right at any time to make changes in the PURCHASE ORDER or any part thereof.

No change to or modification of the items, specifications, terms, conditions and prices appearing in the PURCHASE ORDER shall be binding upon PURCHASER unless expressly agreed in writing by PURCHASER. SUPPLIER shall promptly notify PURCHASER in the event that any GOODS subject of the PURCHASE ORDER are affected by changes in drawings, specifications or design, but SUPPLIER shall not without prior written consent of PURCHASER incorporate any such changes in the order.

### Acceptance

In the case of GOODS delivered by SUPPLIER not conforming with the PURCHASE ORDER whether by reason of not being of the quality or in the quantity or measurement stipulated or being unfit for the purpose for which they are required, PURCHASER shall have the right to reject such GOODS within a reasonable time of their delivery and inspection and to purchase elsewhere and to claim for any additional expense incurred without any prejudice to any other right which PURCHASER may have against SUPPLIER. The making of any prior payments by PURCHASER shall not prejudice PURCHASER's right of rejection.

#### Termination

In the event of any breach of any of the terms and conditions of the PURCHASE ORDER including failure to deliver by the due date, then PURCHASER without prejudice to any other rights, may terminate the PURCHASE ORDER and may return GOODS previously supplied under the PURCHASE ORDER for full credit by SUPPLIER. In the event of termination due to non-delivery or non-acceptance due to SUPPLIER's breach of the terms and conditions hereof, SUPPLIER shall undertake to reimburse all monies paid by PURCHASER prior to the date of termination including all direct costs and expenses incurred by PURCHASER arising from or in connection with the termination.

Prepared By - Purchase Executive

Authorised By

	Shan Tablewares Pvt. Ltd.				
	Mumbai Office: 119, First Floor, TV Industrial Estate, Sk Ahire Marg, Worli, Mumabi - 400030.	( manage		Third	WINDING S
	Tele: 022 - 24900012. E-mail: pradeep@feathertouch.co.in	FEATHER TOUCH	4		
	Works: B-525, RIICO. Industrial Area, Bhiwadi – 301019, (Rajasthan) INDIA, Tel.: (01493) 221885			a contra	
	GST Number: 08AAFCS4238J1Z4 HSN CONE.69111011	$\sim$		6 6	έι 💽 🔄
	PROFORMA INVOIVE				12-12-2024
	BUYER : DELUX CATERERS PVT. LTD.				
	UNIT : COPPER CHIMNEY				
	ADD : Pestrige Park				
C M	DADITICULA DO	DECO	OTH (DCC)	DATE (DC)	
<u>S.No</u>	PARTICULARS	DECO		<u>RATE (RS.)</u>	<u>AMT (RS.)</u>
1	DEEP COUPE PLATE 8"	BLACK MATT	0	360.00	-
2	TASLA PLATTER 9"	DARK BALI	0	508.00	
2		GREEN	0	508.00	
3	TASLA PLATTER 9"	BLACK MATT	0	308.00	
4	CURRY BOWL ROUND KWT 7.5" CURRY BOWL ROUND KWT 7.5"	BLACK MATT DARK BALI	0	340.00	-
3	CURR I BOWL ROUND KWI 7.5		0	340.00	
6	OBLONG CURRY BOWL	GREEN	0	248.00	
<u>6</u> 7	LEAF PLATE	GLOSSY RUST DARK BALI	0	2+0.00	-
/	LEAFFLATE	GREEN	0	368.00	
8	LAGAN HANDI TWO PORTION 7.5"	DARK BALI	Ū	500.00	
0	LAGAN HANDI I WO FOR HON 7.5	GREEN	0	424.00	
9	LAGAN HANDI TWO PORTION 7.5"	GLOSSY RUST	0	424.00	
	LAGAN BOWL 4"	WHITE	0	114.00	-
	BLACK DOUBLE WALL BOWL 8.5"	BLACK MATT	0	490.00	-
12	DESSERT SPOON BIG	DARK BALI			
		GREEN	0	408.00	-
13	TOPAZ ONE PORTION BOWL	DARK BALI			
		GREEN	0	328.00	-
14	TOPAZ ONE PORTION BOWL	BLACK MATT	0	328.00	-
	OBLONG SALAD PLATTER	BLACK MATT	0	490.00	-
16	SOUP MATKI WITH HANDLE	WHITE	72	110.00	7,920.00
17	URMI DINNER PLATE 10"	WHITE	228	148.00	33,744.00
18	URMI QUARTER PLATE 7"	WHITE	228	76.00	17,328.00
19	TEA CUP MRT	WHITE	12	51.00	612.00
20	TEA SAUCER MRT	WHITE	12	51.00	612.00
21	TEA POT 2 CUPS	WHITE	2	280.00	560.00
22	KATORI 3.5"	WHITE	144	55.00	7,920.00
23	CREAMER SMALL	WHITE	72	80.00	5,760.00
24	ENVY BOWL 3.5	WHITE	72	89.00	6,408.00
25	BEAN BOWL (S) W/O LINES	WHITE	72	80.00	5,760.00
26	PG DIP BOWL	WHITE	72	55.00	3,960.00
					90,584.00
	ADD: SPECIAL PACKING				At Actual
					90,584.00
	ADD: INSURANCE				At Actual
					90,584.00
	ADD : GST @ 12%			RS.	10,870.08 1,01,454.08
	TOTAL: POUND OFF.			RS.	1,01,454.08
	ROUND OFF:			ко.	1,01,454.08
*****	YOU HAVE SELECTED COLOUR GLAZE DESIGN. PLEASE NO	TE THERE WILL	BE COLO	UR VARIATI	ON
	BETWEEN THE PIECES. THE EXTENT OF VARIATION HAS B				011
	DELYCEAN THE TREES, THE EXTENT OF VARIATION HAS B		100.		
		<u> </u>			
_	TERMS & CONDITIONS				
1	TERMS & CONDITIONS: Above rates are ex-factory. Bhiwadi (Rajasthan). Freight shall be ex	tra navable directl	v to the tren	sporter	
1	Above rates are ex-factory, Bhiwadi (Rajasthan). Freight shall be ex		e de la companya de l	sporter	
2	Above rates are ex-factory, Bhiwadi (Rajasthan). Freight shall be ex Payment: 50% advance, balance against Proforma Invoice, payable prior	to dispatch of mate	e de la companya de l	sporter	
2 3	Above rates are ex-factory, Bhiwadi (Rajasthan). Freight shall be ex Payment: 50% advance, balance against Proforma Invoice, payable prior Delivery: 55 - 60 days from the date of receipt of confirmed order al	to dispatch of mate ong with advance.	rial.		specifications
2	Above rates are ex-factory, Bhiwadi (Rajasthan). Freight shall be ex Payment: 50% advance, balance against Proforma Invoice, payable prior	to dispatch of mate ong with advance. ble to you as the goo	rial.	factured to your	specifications.

	Shan Tablewares Pvt Ltd		-	NINVE IN INCOM	
	Mumbal Office: 119, First Floor, TV Industrial Estate, SA Ahtre Marg, Worll, Mumahl - 400030.			MHKE IN JNDTH	81
	Tele: 022 - 31979586. E-mail: pradcep@fratheriouch.co.in	FEATHER TOUCH		111	····
	Works: B-525, RHCO. Industrial Area, Bibbeall – 301019, (Rejasthan) INDIA, TeL: (01495) 221885 Our GST Number : 0LAAF CS4234J124 HSN CODE: 69111011				
	Our day Number 2004AF CS4250724 Has Cobe: 0911011	$\sim$			
	PROFORMA INVOICE				14/12/202
	BUYER: DELUXE CATERERS PVT LTD.				
	PRESTIGE PARK,				
	BANGALORE				
S.No	PARTICULARS	DECO	QTY (PCS)	RATE (RS.)	AMT (RS.)
2	TASLA PLATTER 9"	BALI GREEN	36	508.00 508.00	18,288.00
-	TASLA PLATTER 9"	BLACK MATT	36		18,288.00
3	CURRY BOWL ROUND KWT 7.5 "	BLACK MATT	48	340.00	16,320.00
4	CURRY BOWL ROUND KWT 7.5 "	BALI GREEN			16,320.00
6	OBLONG CURRY BOWL LEAF PLATE	GLOSSY RUST BALI GREEN	60	248.00 368.00	14,880.00 8,832.00
7	LEAF PLATE LAGAAN HANDI TWO PORTION 7.5"	BALI GREEN	36	424.00	15,264.00
8	LAGAAN HANDI TWO PORTION 7.5"	GLOSSY RUST	36	424.00	15,264.00
9	LAGAAN HANDI I WO PORTION 7.5"	WHITE	48	424.00	5,472.00
10	TOPAZ ONE PORTION BOWL	BALIGREEN	60	328.00	19,680.00
10	TOPAZ ONE PORTION BOWL	BLACK MATT	60	328.00	19,680.00
12	OBLONG SALAD PLATTER	BLACK MATT	48	490.00	23,520.00
12	SOUP MATKI WITH HANDLE	WHITE	72	110.00	7,920.00
14	URMI DINNER PLATE 10"	WHITE	228	148.00	33,744.00
14	URMI DINNER PLATE 10 URMI QUARTER PLATE 7"	WHITE	228	76.00	17,328.00
16	KATORI 3.5"	WHITE	144	55.00	7,920.00
17	CREAMER (S)	WHITE	72	80.00	5,760.00
18	ENVY BOWL 3.5"	WHITE	72	89.00	6,408.00
19	BEAN BOWL (S) W/O LINES	WHITE	72	80.00	5,760.00
20	PG DIP BOWL	WHITE	72	55.00	3,960.00
21	TEA CUP MRT	WHITE	12	51.00	612.00
22	TEA SAUCER MRT	WHITE	12	51.00	612.00
23	TEA POT 2 CUPS	WHITE	2	280.00	560.00
24	DOUBLE WALL BOWL 8.5"	BLACK MATT	12	490.00	5,880.00
25	DESSERT SPOON BIG	BALI GREEN	36	408.00	14,688.00
26	DEEP COUPE 8" BLACK MATT	BLACK MATT	24	360.00	8,640.00
					311,600.00
	ADD : SPECIAL MASTER CARTON PACKING				15,580.00
					327,180.00
	ADD : INSURANCE @ 3%				9,815.40
					336,995.40
	ADD : IGST @ 12%				40,439.45
	TOTAL:			RS.	377,434.85
	ROUNDED OFF			RS.	377,435.00
	TERMS & CONDITIONS:				
*****	YOU HAVE SELECTED MULTICOLOUR GLAZE DESIGN. PLEAS	SE NOTE THERE WI	LL BE COLOU	IR VARIATION	
	BETWEEN THE PIECES AND WITHIN ANY PIECE				
1	Above rates are ex-factory, Bhiwadi (Rajasthan). Freight shall be extra.				
2	Payment: 50% advance, balance against Proforma Invoice, payable prior to	dispatch of material.			
3	Delivery: 45 - 50 days from the date of receipt of confirmed order along				
4	Variation : Variation in the dispatched quantity of ± 5% shall be acceptable		manufactured to	your specification	15.
5	In case of any dispute with regard to the sale and supply of goods and its pa	yments, the same shall b	e referred to a s	ole	
	arbitrator at Delhi under the arbitration & conciliation act (As amended & u				
		1			
6	Errors and Omissions Excepted (E&OE)	1	1		

SINGLE VENDOR DECLARATION				
Date: 18-12-2024	PO No: DCPL/PO/24-25/000344			
Vendor Name: Shan Tablewares Pvt. Ltd.				
Product Description: Serviceware & Tableware	Unit / Project Name: Copper Chimeny Prestige Park			
Justification:				
Specifique Material procure by Copper Chimeny Bandra West ( As per sample Approval By CC Team and images attach in Annexure	Only known supplier. ( <u>List of the suppliers</u> which were contacted below and the specific reasons <u>why each was not a viable source</u> ).			
	<b>Only known qualified supplier or item</b> . (List the qualifications that each source or items meet. If another supplier offers a similar item, <u>provide the item identification, supplier information and comparable pricing</u> ).			
	<b>Supplier proprietary item.</b> (The selected supplier is the only manufacturer of this item. List the reasons why no substitute item can be used and if no similar item is available).			
	<b>Franchise / Management / User Dept Directed.</b> (Provide a copy of letter, or memo or e-mail specifically directing this source)vendor already work with us on same location.			
	Item / Rate Contracted. (Provide copy of the contract / agreement)			
Prepared By	Approved By			